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Fig. 1. Vector, basis, relative basis.

a ( the vector as a physical object, invariant to the co-ordinate system chosen; b ( the 
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Fig. 2. Covariant, orthogonal, (
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Fig. 3. A fixed, e.g. Cartesian, system of reference 
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 (a); a convected, Lagrangian, co-ordinate system 
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Fig. 6. Plasticity testing in a pressurised liquid: torsion (a), tension (b)
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Fig. 7. The diagrams 
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Fig. 8. Slip-line network near a cut made in a wide prismatic specimen under bending
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Fig. 10. The microstructure of St3sp steel specimens with different calculated 
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Fig. 13. Plasticity as a function of the logarithm of strain rate for molybdenum (a) and titanium (b) under liquid pressure 
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Fig.17. Construction to prove some basic theorems.
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Fig. 20. Solution with Fourier series. Stresses
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Fig. 28. The distribution of mean normal stress ( (Pa) in the section  
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Fig. 31. To Grigoryan’s model of superdeep penetration: a ( section along the particle motion path; b ( cross section
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Fig. 32. To the determination of particle penetration depth: a ( ordinary case, b ( superdeep penetration under favourable conditions for fracture, e.g., due to the wave process in the target, 1 ( target, 2 ( particle
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Fig. 16. A macroscopic elementary volume of a body under deformation. Microscopic objects are metal grains or crystallites; submicroscopic objects are discontinuities (short irregular lines) in the grains.
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Fig. 15. Variation of damage from plastic deformation for steel 20 in thermal treatment at 600(С: 1 ( �EMBED Equation.3���= 0; 2 ( 0.2; 3 ( 0.6; 4 ( 0.7
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Fig. 14. A decrease in metal damage (steels 12Kh18N10T, St3sp and titanium alloy VT1-0) from plastic deformation, which results from recrystallization annealing. Line 1 ( when hydrostatic pressure is imposed during thermal treatment
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Fig. 12. Experimental results (dots) and predicted damage curve in two-stage deformation (tension and torsion) to fracture.
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Fig. 11. The density of steel St3sp as a function of damage resulting from plastic deformation
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Fig. 9. Plasticity diagram for quenched and tempered rail steel when �EMBED Equation.3���





Fig. 5. An elementary tetrahedron and surface stresses on its facets  related by Eq. (63)
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Fig. 4. Velocity field in the neighbourhood of point �EMBED Equation.3��� ( the centre of an infinitesimal continuum particle, �EMBED Equation.3��� being an arbitrary point of the neighbourhood.
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Fig. 18. A bar impinging on a rigid target











� EMBED Word.Picture.6  ���Fig. 19. The variation-difference solution. Node displacement
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Fig. 21. Damage along an elastic bar
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Fig. 22. The instant of the first fracture as dependent on bar velocity
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Fig. 24. The displacement of the fracture point
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Fig. 23. The co-ordinates of the point of the first fracture as dependenton the bar velocity
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Fig. 26. Hammer forging: 1 ( top die head, 2 ( forging, 3 ( bottom die head with an anvil
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Fig. 27. To the calculation of the stress-strain state in parallelepiped forging
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Fig. 29. The variation of ( (Pa) with time in the parallelepiped centre, with the die head mass to parallelepiped mass ratio: 1 ( 712251; 2 ( 178063; 3 ( 17806











� EMBED Word.Picture.6  ���Fig. 30. An implosive accelerator: 1 ( detonator,  2 ( explosive charge, 3 ( facing, 4  ( Al2O3 powder
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